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Directions (1 – 4) : In each of the following
questions, select the related letter/word/
number from the given alternatives.

funsZ'k (1 & 4) % fuEu izR;sd iz'u esa fn, x, fodYiksa esa ls
lEcfU/r v{kj@'kCn@la[;k dks pqfu,A
 1. 78 : 28 :: 84: ?

(A) 16 (B) 18
(C) 24 (D) 30

 2. MNCO : NCOM :: PORS : ?
(A) ORPS (B) ORSP
(C) PRSO (D) PSOR

 3. Physics :  Science ::  History : ?
HkkSfrdh  %  foKku % bfrgkl % \
(A) Mathematics/xf.kr
(B) Social Science/lkekU; Kku
(C) Polity/jktuhfr 'kkL=k
(D) Moral Science/uSfrd f'k{kk

 4. 34 : 81 :: 25 : ?
(A) 64 (B) 32
(C) 36 (D) 61

Directions (5 – 8) : Find the odd word/letters/
number pair/number from the given
alternatives.

funsZ'k (5 & 8)% fn;s x, fodYiksa esa ls fo"ke 'kCn@v{kj@la[;k
;qXe@la[;k dks pqfu,A
 5. (A) 328 – 192 (B) 215 – 10

(C) 342 – 48 (D) 235 – 258
 6. (A) Raj Kapoor/jkt oQiwj

(B) Rishi Kapoor/½f"k oQiwj
(C) Anil Kapoor/vfuy diwj
(D) Shashi Kapoor/'kf'k oQiwj

 7. (A) PQRS (B) ABCD
(C) MNOP (D) STUV

 8. (A) 64
(B) 125
(C) 512
(D) 256

 9. If A is B’s sister. C is B’s mother. D is C’s
father. E is D’s mother, then how is A related
to D ?
;fn A,B dh cgu gSA C,B dh ek¡ gSA D,C dk firk gSA E,D

dh ek¡ gS] rks A, D ls fdl izdkj lacafèkr gS\
(A) Grandmother/nknh
(B) Grandfather/nknk
(C) Grandson/ukrh
(D) Granddaughter/ukfru

Direction (10): Two statements are given which
are followed by two conclusions 1 and 2. You
have to consider the two statements to be true
even if they seem to be at variance from
commonly known facts. You have to decide
which of the given conclusions, if any, follow
from the given statements.

funsZ'k % iz'u la[;k 10 esa nks dFku vkSj mlds vkxs nks fu"d"kZ
1 vkSj 2 fn, x, gSaA vkidks bu dFkuksa dks lR; ekudj
fopkj djuk gS pkgs os lkekU;r% Kkr rF;ksa ls fHkUu izrhr gksrs
gksaA vkidks fu.kZ; djuk gS fd fn, x, fu"d"kksZ esa ls dkSu lk
fu"d"kZ ;fn dksbZ gS] fuf'pr :i ls dFku ds vk/kj ij
fudkyk tk ldrk gSA]

Statements / dFku :
All Cars are Shoes.

lHkh dkj twrs gSaA
Some Shoes are Inks.

oqQN twrs L;kgh gSaA
Conclusions / fu"d"kZ :

     1. All Shoes are Inks.

lHkh twrs  L;kgh gSA
     2. All cars are Inks.

oqQN dkj L;kgh gSaA
(A) Only conclusion (1) follows

dsoy fu"d"kZ (1) vuqlj.k djrk gSA
(B) Only conclusion (2) follows

dsoy fu"d"kZ (2) vuqlj.k djrk gSA
(C) Both conclusion (1) or (2) follows

fu"d"kZ (1) rFkk (2) nksuksa vuqlj.k djrs gSA
(D) Neither conclusion (1) nor (2) follows

uk rks fu"d"kZ (1) uk gh (2) vuqlj.k djrk gSA
Direction (11-13) : In question no 11 to 13,
select the missing number from the given
responses.
funsZ'k (11-13) : iz'u la[;k 11 ls 13 esa] fn, x, fodYiksa
esa lsa foyqIr la[;k pqfu,A
11.

12 18 24 9

16 24 8 ?

15 8 24 5

(A) 36 (B) 16
(C) 24 (D) 48

12.

8 3 

256

4 2 

8 

6 3 

? 

(A) 28 (B) 108
(C) 48 (D) 128

13.

12 ? 10 

12 4 

18 6

18 36

5 8

5 10 

6 8
(A) 36 (B) 18

(C) 8 (D) 14

Part-I : General Intelligence and Reasoning

Hkkx&I : lkekU; cqf¼erk ,oa rdZ'kfDr
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14. Which one of the following diagram

represents the correct relationship among

Wood, Furniture and Table.

fuEufyf[kr esa ls dkSu&lh vkòQfr ydM+h] iQuhZpj rFkk esat+
osQ chp lacaèk dks n'kkZrh gS \

(A) (B)

(C) (D)

15. From the given alternatives, select the word

which can’t be formed using the letters of

the given word.

fuEu fodYiksa esa ls ml 'kCn dk p;u djsa] tks fn, x, 'kCn
esa 'kkfey v{kjksa ls ugha cuk;k tk ldrk gSA
ENVIRONMENT

(A) NINE (B) ROME

(C) TONE (D) RIVER

Directions (16-18) : In the following questions,

a series is given with one terms missing.

Choose the correct alternative from the given

ones that will complete the series:

funsZ'k (16-18) % fuEufyf[kr iz'uksa esa] ,d vuqØe fn;k x;k
gS ftlesa ,d in yqIr gSA fn, x, fodYiksa esa ls og lgh
fodYi pqfu, tks vuqØe dks iwjk djsaA
16. 2, 5, 16, 57, ?

(A) 218 (B) 124

(C) 240 (D)  252

17. 8, 12, 18, 27, ?__

(A) 38 (B) 43.5

(C) 46 (D) 40.5

18. 12, 24, 72, 288, ? ___

(A) 1440 (B) 1360

(C) 1280 (D) 1190

19. Arranage the words as per their order in

the  english dictionary.

fn, x, 'kCnksa dks vaxzsth o.kZekyk osQ ozQe esa yxk,aA
(1) Rising (2) Result

(3) Rhyme (4) Rural

(5) Race

(A)  5, 3, 2, 4, 1 (B) 5, 2, 3, 1, 4

(C) 5, 3, 2, 1, 4 (D) 5, 2, 1, 3, 4

20. Choose the correct alternatives from the

given ones that will complete the series.

fuEu fodYiksa esa ls lgh fodYi dk p;u djsa tks fd fn,
x, Jà[kyk dks iwjk djsxkA
P_RSPS_RPRS_P_R

(A) Q Q Q R (B) R R R Q

(C) R R R R (D) Q Q Q Q

21. If – = ×, + = ÷, × = + and ÷ = – then, find the

value of 
52 8 – 6 2

16 12 6 – 3 18

 

  

;fn – = ×, + = ÷, × = + rFkk ÷ = – gk s]rk s

52 8 – 6 2

16 12 6 – 3 18

 

  
dk eku fudkysaA

(A) 6 (B) 7
(C) 8 (D) 9

 22. Which of the answer figures is the right

water image of the question figure ?

nh xbZ mÙkj vkÑfr;ksa esa ls dkSu&lh vkÑfr iz'u vkÑfr
dk lgh ty izfrfcEc gSa\

Question Figure :

Answer Figures

     

(A)          (B)            (C)            (D)

 23. If A = 2, B = 6, C = 12, D = 20 and E = 30 then
F + B + G = ?

;fn A = 2, B = 6, C = 12, D = 20 rFkk E = 30 gks
] rks F + B + G = ?

(A) 104 (B) 92
(C) 128 (D) 156

 24. Identify the figure that will completes the

pattern of the question figure.

ml vkÑfr dk p;u djsa tks iz'u vkÑfr ds iSVuZ dks iwjk
djsxhA
Question Figure :

Answer Figures :

    

(A)          (B)            (C)            (D)
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 25. A word is represented by only one set of

numbers as given in any one of the

alternatives. The sets of numbers given in

the alternatives are represented by two

classes of letters as in two matrices given

below. The columns and rows of Matrix-I are

numbered from 0 to 4 and that of Matrix-II

are numbered from 5 to 9. A letter from

these matrices can be represented first by

its row and next by its column. E.g., ‘B’ can

be represented by 01, 31 etc., and ‘P’ can be

represented by 67, 75 etc. Similarly, you

have to identify the set for the word ‘FARE’.

,d 'kCn osQoy ,d la[;k&lewg }kjk n'kkZ;k x;k gS] tSlk

fd fodYiksa esa ls fdlh ,d esa fn;k x;k gSA fodYiksa esa fn,

x, la[;k&lewg v{kjksa ds nks oxks± }kjk n'kkZ, x, gSa] tSlk fd

uhps fn, x, nks vkO;wg esa gSA vkO;wg&I ds LraHk vkSj iafDr

dh la[;k 0 ls 4 nh xbZ gS vkSj vkO;wg&II dh 5 ls 9A bu

vkO;wgksa ls ,d v{kj dks igys mldh iafDr vkSj ckn esa LraHk

la[;kvksa }kjk n'kkZ;k tk ldrk gSA mnkgj.k ds fy,] ‘B’ dks

01, 31 vkfn }kjk n'kkZ;k tk ldrk gS rFkk ‘P’ dks 67, 75

vkfn }kjk n'kkZ;k tk ldrk gSA fn;s x, 'kCn ‘FARE’ ds

fy, lewg dks igpkuuk gSA

  Matrix/vkO;wg-I          Matrix/vkO;wg-II

0 1 2 3 4

0 A B L D E

1 D L B A E

2 B A D L E

3 D B L A E

4 L D A E B

  

5 6 7 8 9

5 P Q R I F

6 Q I P R F

7 P F R I Q

8 Q I P R F

9 F P I Q R

(A) 69, 13, 56, 24 (B) 89, 33, 57, 43

(C) 76, 21, 57, 22 (D) 95, 42, 56, 04
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 26. Who was the National leader who wrote
History of India on the walls of the
Andaman Cellular Jail?

vaMeku lsywyj tsy dh nhokjksa ij Hkkjr dk bfrgkl fy[kus
okys jk"Vªh; usrk dkSu Fks\
(A) Nandanlal Bose/uanuyky cksl
(B) Ambedkar/vEcsaMdj
(C) Vir Savarkar/ohj lkojdj
(D) Jyotiba Phule/T;ksfrck iwQys

 27. Match the following:

fuEufyf[kr dk feyku djs%
1. Hazaribagh/gtkjhckx a. Coal/dks;yk
2. Neyveli/us;osyh b. Iron/yksgk
3. Jharia/>fj;k c. Lignite/fyXukbV
4. Rourkela/jkmjosQyk      d. Mica/ekbdk

(A) 1-c, 2-d, 3-a, 4-b
(B) 1-d, 2-c, 3-a, 4-b
(C) 1-a, 2-b, 3-c, 4-d
(D) 1-d, 2-c, 3-b, 4-a

 28. As per provisions of the Charter Act of
1833, a Law Commission (for
consolidating, codifying and improving
Indian laws) was constituted under the
Chairmanship of

1833 osQ pkVZj vfèkfu;e osQ izkoèkkuksa osQ rgr fofèk vk;ksx
(Hkkjrh; dkuwu dks etcwr vkSj lafgrc¼ cukus vkSj lqèkkj
ykus osQ fy,) fdlosQ vè;{krk esa xfBr dh xbZ Fkh\
(A) Lord Bentinck/ykWMZ cSfUVd
(B) Raja Ram Mohan Roy/jktk jke eksgu jkW;
(C) Lord Macaulay/ykWMZ eSdkys
(D) Lord Dalhousie/ykWMZ MygkSth

 29. Personal disposable income is

O;fDrxr iz;ksT; vk; gksrh gS&
(A) Always equal to personal income/gesa'kk

O;fDrxr vk; osQ cjkcj
(B) Always more than personal income/

gesa'kk O;fDrxr vk; ls vfèkd
(C) Equal to personal income minus

indirect taxes/O;fDrxr vk; vkSj vizR;{k dj
osQ varj osQ cjkcj

(D) Equal to personal income minus direct

taxes/O;fDrxr vk; vkSj izR;{k dj osQ varj osQ
cjkcj

 30. Who invented the electric generator?

fctyh tujsVj dk vkfo"dkj fdlus fd;k Fkk\
(A) Marconi/ekdksZuh (B) Faraday/iSQjkMs
(C) Franklin/izSaQdfyu(D) Edison/,fMlu

Part-II : General Awareness

Hkkx&II : lkekU; tkudkjh
 31. Which one of the following is most

radioactive?

fuEufy[kr esa ls dkSu&lk ,d lokZfèkd jsfM;kslfozQ; gS\
(A) Uranium/;wjsfu;e (B) Thorium/Fkksfj;e
(C) Radium/jsfM;e  (D)  Polonium/iksyksfu;e

 32. Interveinal necrotic spots on leaves appear
due to

ifÙk;ksa ij baVjohuy ifjxyu èkCcs fdl dkj.k fn[kkbZ nsrs
gS\
(A) HF injury/HF dh {kfr osQ dkj.k
(B) SO

2
 injury/SO

2 
dh {kfr osQ dkj.k

(C) NO
2
 injury/NO

2 
dh {kfr osQ dkj.k

(D) O
3
 injury/O

3
 dh {kfr osQ dkj.k

 33. Satvahanas minted their coins pre-

dominatly in:

lkrokgu vius flDosQ eq[;r fdl èkkrq ls cukrs Fks\
(A) Lead/ysM (B) Silver/flYoj
(C) Gold/ xksYM (D) Copper/dkWij

 34. Srinath Narayanan is associated with

which sports?

JhukFk ukjk;.ku fdl [ksy ls lacafèkr gS\
(A) Chess/'karjat (B) Boxing/eqDosQckth
(C) Football /iqQVckWy (D) Hockey/gkWdh

 35. Which of the following is used in making
computer chips?

fuEu esa ls fdldk iz;ksx dEI;wVj fpi cukus esa fd;k tkrk
gS\
(A) Carbon/dkcZu (B) Uranium/;wjsfu;e
(C) Silicon/flfydu (D) Rubidium/:fcfM;e

 36. The innovator of the Revenue settlement

during the rule of Akbar was–

vdcj osQ 'kklu osQ nkSjku jktLo mifuos'k osQ izoZRd dkSu
Fks\
(A) Raja Man Singh/jktk ekuflag
(B) Raja Bhagwan Das/jktk Hkxoku nkl
(C) Raja Todarmal/jktk VksMjey
(D) Raja Birbal/jktk chjcy

 37.   Earthquakes and volcanoes occur mostly
in–

HkwaoQi vkSj Tokykeq[kh vfèkdrj fdl {ks=k esa vkrs gS\
(A) Plateau region/iBkj {ks=k esa
(B) Folded and faulted region/ijrnkj vkSj foHkax

{ks=k esa
(C) Deep sea plains/xgjs leqnzh {ks=k esa
(D) None of these/buesa ls dksbZ ugha

www.anushkaacademy.com / www.anushkaias.com / www.gkindiatoday.com
Branches :- Subhash Nagar-8233223322,Fatehpura-7727867730,Anushka Library-9521314152,Ajmer-7340019191, Kankroli-7229922209

ANUSHKA ACADEMY



AN
US

HK
A 

AC
AD

EM
Y

 38. Who is not entitled to take part in the
activities of Lok Sabha ?
fdls yksdlHkk osQ dk;Zdyki esa Hkkx ysus dk vfèkdkj ugha
gksrk gS\
(A) The Comptroller and Auditor General

of India/Hkkjr osQ fu;a=kd ,oa egkys[kk ijh{kd dks
(B) The Attorney General of India/Hkkjr osQ

egkU;k;oknh dks
(C) The Solicitor General/lWkfyflVj tujy dks
(D) The President of India/Hkkjr osQ jk"Vªifr dk

 39. By which Bill does the Government propose
collection of revenue for a year ?
fdl fcy osQ }kjk ljdkj ,d o"kZ osQ fy, jktLo osQ laxzg
dk izLrko j[krh gS\
(A) Economic Bill/vkfFkZd fcy
(B) Finance Bill/foÙkh; fcy
(C) Supplementary Bill/ifjf'k"V fcy
(D) None of these/buesa ls dksbZ ugha

 40. The characteristic of sound which
distinguishes a female voice from a male
voice is called :
èofu dh og fo'ks"krk tks ,d efgyk dh vkokt dks ,d
iq:"k dh vkokt ls fHkUu djrh gS] mls D;k dgrs gS\
(A) Quality/xq.koÙkk (B) Loudness/izcyrk
(C) Pitch/fip (D) Phase/izkoLFkk

 41. Which is strogest redusing agent?
lcls etcwr vipk;d dkjd dkSu&lk gS\
(A) F (B) I
(C) Cl (D) Li

 42. The Phylogenetic system of classification
was put forth by–
tkfròfr osQ vkèkkj ij oxhZdj.k dh iz.kkyh fdlosQ }kjk dh
xbZ Fkh\
(A) Theophrastus/fFkvksizsQLVl
(B) George Bentham and Joseph Dalton

Hooker/tkWtZ csUFke vkSj tkslsiQ MkYVu gwdj
(C) Carolus Linnaeus/dkWyZ yhfu;l
(D) Adolf Engler and Karl Prantl/vMksYiQ ,xayj

vkSj dkyZ izkUVy
 43. Bob Dylan, who will receive the 2016 Nobel

Literature Prize, hails from which country?
ckWc fMyu] ftudks 2016 osQ ukscy lkfgR; iqjLdkj ls
lEekfur fd;k tk,xkA og fdl ns'k osQ fuoklh gS\
(A) Germany/teZuh
(B) United States/la;qDr jkT; vesfjdk
(C) France /izaQkl
(D) Russia/:l

 44. Kalhana's well-known work ‘Rajatarangini’
is an important source material for the
study of which one of the following?
dYg.k dh ^jktrjafx.kh* fuEufyf[kr esa ls fdl ,d
vè;;u dk egÙoiw.kZ L=kksr gS\
(A) Ancient Kamarupa/izkphu dke:i
(B) Mauryan Magadha/ekS;Z exèk
(C) Medievial Rajasthan/eè;dkyhu jktLFkku
(D) Early Medieval Kashmir/i z k j f E H kd

eè;dkyhu d'ehj

 45. Equinox is a state in which the duration of
day and night is equal. It falls on –
fo"kqo ,d ,slh voLFkk gS ftlesa fnu jkr dh vofèk leku
gksrh gSA ;g dc gksrh gS\
(A) 31st March and 30th September/31 ekpZ

vkSj 30 flrEcj
(B) 24th December and 30th June/24 fnlEcj

vkSj 30 twu
(C) 21st March and 23rd September/21  ekpZ

vkSj 23 flrEcj
(D) 1st April and 1st January/1 vizSy vkSj 1 tuojh

  46. Once elected for a full term, a judge serves
on the international court of Justice for-
,d ckj iwjs dk;Zdky osQ fy, pqus tkus ij dksbZ U;k;èkh'k
varjkZ"Vªh; U;k;ky; esa fdruh vofèk rd dke djrk gS\
(A) Five years/ik¡p o"kZ
(B) Six years/N% o"kZ
(C) Nine years/ukS o"kZ
(D) Ten years/nl o"kZ

 47. Freeing the economy from all unnecessary
controls and regulations is referred to as–
vFkZO;oLFkk dks lHkh vuko';d fua;=k.k vkSj fu;eksa ls eqDr
djus dks D;k dgrs gSa\
(A) Freedom/Lora=krk
(B) Privatization/futhdj.k
(C) Liberalization/mnkjhdj.k
(D) Globalization/HkweaMyhdj.k

 48.    Photoelectrons are emitted when
iQksVksbysDVªku mRlftZr gksrs gS] tc
(A) A zinc plate is irradiated with light/,d

tLrk dh IysV izdk'k osQ lkFk iznhIr gksrh gS
(B) A zinc plate is subjected to high

pressure/,d tLrs dh IysV ij mPp ncko yxk;k
tkrk gS

(C) A zinc plate is hammered/,d tLrs dh IysV
dks ihVk tkrk gS

(D) A zinc plate is heated/,d tLrs oQh IysV dks
xeZ fd;k tkrk gSs

 49. Energy flow in ecosystem is:

ifjfLFkfrdh ra=k esa mQtkZ dk izokg gksrk gS\
(A) Bi-directional/f}&fn'kkRed
(B) Multi - directional/cgq&fn'kkRed
(C) Uni-directional/,d&fn'kkRed
(D) None of these/buesa ls dksbZ ugha

 50. Which country is set to become the new
member of the North Atlantic Treaty
Organization (NATO)?

dkSu&lk ns'k mÙkjh vaVykafVd lafèk laxBu (ukVks) dk u;k
cuus tk jgk gS\
(A) Alaska/vykLdk
(B) Guinea Bissau/fxuh&fclkmQ
(C) Montenegro/eksaVsusxzks
(D) Ghana/?kkuk
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Part-III : Quantitative Aptitude

Hkkx&III : ek=kkRed vfHk{kerk

 51. The value of 
  12 – 8 3 2

5 9




 is:

  12 – 8 3 2

5 9




 dk eku gS&

(A)
1

4
(B)

1

2

(C) 1 (D) 0

52. The batting average of 40 innings of a
crickete player is 50 runs. His highest score
exceeds his lowest score by 150 runs. If
these two innings are excluded, the average

of the remaining 38 innings is 48 runs. The
lowest score of the player is:

,d fØdsV f[kykM+h ds 40 ikfj;ksa dk cYysckth vkSlr 50

ju gSA mldk mPpre Ldksj mlds U;wure Ldksj ls 150

vf/d gSA ;fn bu nks ikfj;ksa ds Ldksj dks gVk fn;k tk,] rks
'ks"k 38 ikfj;ksa dk vkSlr 48 gSA f[kykM+h dk U;wure Ldksj
gS&
(A) 21 runs/ju
(B) 18 runs/ju
(C) 13 runs/ju
(D) 17 runs/ju

 53. Suhana spends 75% of his income. Her
income is increased by 50% and she
increased her expenditure by 10%. Find the

percentage increase in his savings.

lqgkuk viuh vk; dk 75% [kpZ djrh gSA mldh vk;
50% c<+ tkrh gS rFkk og vius [kpZ dks 10% c<+k nsrh
gSA mldh cpr esa izfr'kr of̀¼ Kkr djsaA
(A) 130% (B) 140%

(C) 160% (D) 170%

  54.  If 5 tan  = 4, then the value of

7sin – 4cos

7sin 4cos

  
    

 is:

;fn 5 tan  = 4 gS] rks 
7sin – 4cos

7sin 4cos

  
    

 dk eku gS&

(A)
1

6
(B)

1

3

(C)
1

2
(D)

1

5

 55. The ratio of the number of boys and girls in
a college is 7 : 8. If the percentage increase
in the number of boys and girls be 25% and
15% respectively, what will be the new
ratio?
,d dkWyst esa yM+ds rFkk yM+fd;ksa dh la[;k dk vuqikr 7: 8
gSA ;fn yM+ds rFkk yM+fd;ksa dh la[;k esa izfr'kr of̀¼
Øe'k% 25% rFkk 15% gksrh gS] rks u;k vuqikr D;k gksxk\
(A) 63 : 79 (B) 58 : 61
(C) 175 : 184 (D) 113 : 173

 56. By selling an article at 
1

3
 of the marked

price, there is a loss of 20%. The ratio of
the marked price and the cost price of the
article is:

,d oLrq dks vafdr ewY; ds 
1

3
 ij cspus ij 20% dh

gkfu gksrh gSA oLrq ds vafdr ewY; rFkk Ø; ewY; dk vuqikr
gS&
(A) 5 : 12 (B) 5 : 2
(C) 12 : 5 (D) 2 : 5

 57. A boat takes 4 hrs less to travel 60  miles
downstream than to travel the same
distance upstream. If the speed of the boat
in still water is 8 miles/hr, the speed of
the stream is:
,d uko 60 ehy /kjk ds lkFk r; djus esa rFkk mlh nwjh
dks /kjk ds foifjr r; djus esa 4 ?kaVs de ysrk gSA ;fn 'kkar
ty esa uko dh pky 8 ehy izfr ?k.Vk gS] rks /kjk dh pky
gS&
(A) 2 miles/hr/ehy@?k.Vk
(B) 2.5 miles/hr/ehy@?k.Vk
(C) 3 miles/hr/ehy@?k.Vk
(D) 4 miles/hr/ehy@?k.V

 58. The H.C.F. and L.C.M. of two numbers are
11 and 385 respectively. If one number lies
between 75 and 125, then sum of the digits
of that number is:
nks la[;kvksa dk e-l- rFkk y-l- Øe'k% 11 rFkk 385 gSA
;fn ,d la[;k 75 rFkk 125 ds eè; gS] rc ml la[;k osQ
vadks dk ;ksx D;k gS\
(A) 16 (B) 14
(C) 18 (D)  2

 59. The price of an article is raised by 40% and
then two successive discounts of 10% each
are allowed. Ultimately, the price of the
article is:
,d oLrq ds ewY; esa 40% dh o`f¼ dh xbZ rFkk izR;sd
10% ds nks Øekxr cV~Vs fn, x,A varr% oLrq dk ewY; gks
tk,xk&
(A) decreased by 15.3%/15.3% ?kV tk,xk
(B) increased by 13.4%/13.4% c<+ tk,xk
(C) increased by 15.3%/15.3% c<+ tk,xk
(D) decreased by 13.4%/13.4% ?kV tk,xk
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  60. A train can travel 50% faster than a car.
Both start from point A at the same time
and reach point B, 60 kms away from A at
the same time. On the way, however, the
train lost about 12.5 minutes while stopping
at the stations. The speed of the car is:

,d jsy ,d dkj ls 50% vf/d rst py ldrh gSA nksuksa

leku le; esa fcUnq A ls fcUnq B ij tks 60 fdeh- A ls

nwj gS] leku le; esa igq¡prh gSA bl nkSjku jsy LVs'ku ij

:drs gq, 12.5 feuV [kks nsrh gSA dkj dh pky gS&

(A) 80 km/h/fdeh@?k.Vk

(B) 96 km/h/fdeh@?k.Vk

(C) 72 km/h/fdeh@?k.Vk

(D) 108 km/h/fdeh@?k.Vk
 61. If the altitude of a triangle is increased by

20% while its area remains same, its
corresponding base will have to be decreased
by

;fn f=kHkqt dh Å¡pkbZ esa 20% dh of̀¼ dh tkrh gS tcfd
bldk {k s=kiQy leku jgrk gS] rk s blds laxr
vk/kj esa deh gks tk,xh&

(A) 25% (B) 16
2

3
%

(C)
1

9 %
11

(D) 14
2

7
%

 62. Five copper cubes of sides 9 cm, 6 cm,
3 cm, 3 cm and 1 cm are melted to make a
single cube. What is the area of the new
cube so formed?

,d ?ku cukus ds fy, rkacs ds ik¡p NksVs ?ku ftudh Hkqtk,a
9 lseh-] 6 lseh-] 3 lseh-] 3 lseh- rFkk 1 lseh- gS] dks
xyk;k tkrk gSA bl izdkj cus u, ?ku dk {ks=kiQy D;k gS\
(A) 300 cm2/lseh2-
(B) 400 cm2/lseh2-
(C) 500 cm2/lseh2-
(D) 600 cm2/lseh2-

 63. If x = 
3

2
, then 

2

1 1 –

1 1 1 – 1 –

x x

x x

 
 

  
 is

equal to

;fn x = 
3

2
 gS] rks 

2

1 1 –

1 1 1 – 1 –

x x

x x

 
 

  
cjkcj

gS&

(A) 1 (B)
1

3

(C)
4

3
(D)

3

2

  64. The square of the ratio of the area of the

equilateral  triangle inscribed on the side

of a square to the area of the equilateral

triangle inscribed on its diagonal is:

leckgq f=kHkqt dk {ks=kiQy tks oxZ dh Hkqtk ij cuk gqvk gS
rFkk leckgq f=kHkqt dk {ks=kiQy tks blds fod.kZ ij cuk gqvk
gS ds chp vuqikr dk oxZ gS&

(A)
1

4
(B)

1

3

(C)
1

6
(D)

1

2

 65. What is the maximum number of diagonals
possible to be drawn in an hexagon ?

fdlh "k"BHkqt esa T;knk ls T;knk fdrus fod.kZ cuk;s tkus
lEHko gS\
(A) 12 (B) 10
(C) 8 (D) 9

 66. What is the ratio of two numbers when the
difference is 60 and the fractional value is

2

7
?

nks la[;kvksa dk vuqikr D;k gS] ftudk varj 60 gS rFkk

fHkUukRed eku 
2

7
 gks\

(A) 1 : 7 (B) 3 : 7

(C) 2 : 7 (D) 4 : 7
 67. A person has to cover a distance of 6 kms in

50 minutes. If he covers half of the distance

in 
4

5
th of the total time, to cover the

remaining distance in the remaining time,
his speed (in km/hr) must be:

,d O;fDr 6 fdeh- dh nwjh doj djus ds fy, 50 feuV

ysrk gSA ;fn og vk/h nwjh dqy le; ds 
4

5
osa Hkkx esa iwjk

djrk gS] rks 'ks"k nwjh dks 'ks"k le; esa iwjk djus ds fy,
mldh pky (fdeh@?k.Vs esa) gksxh&
(A) 16 (B) 18

(C) 20 (D) 15

 68. Find the value of 
sin2 sin

cos2 cos 1

  

   

sin2 sin

cos2 cos 1

  

   
 dk eku Kkr djsaA

(A) 2sec –1 (B) 2cos –1ec 

(C) 21 – cos  (D) 21 – sin 
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 69. The difference between compound interest

and simple interest on an amount of

`18,000 for two years is `135. What is the

rate of interest per annum?

` 18,000 dh jkf'k ij nks o"kZ ds pØo`f¼ C;kt rFkk

lk/kj.k C;kt esa varj ̀  135 gSA okf"kZd C;kt dh nj D;k gS\
(A) 7.32%

(B) 6.67%

(C) 8.66%

(D) 9.34%

 70. If 60% of (x – y) = 40% of (x + y), then what

percent of x is y?

;fn (x – y) dk 60% = (x + y) dk 40% gS] rks y, x dk

fdruk izfr'kr gS\
(A) 20%

(B) 25%

(C) 16.67%

(D) 33.33%

 71. If ABCDEF is a regular hexagon of side 2 cm,

then what is the area of triangle BDF?

;fn ABCDEF 2 lseh- Hkqtk okyk ,d le"k"BHkqt gS] rks

f=kHkqt BDF dk {ks=kiQy D;k gS\

A B

C

DE

F

(A) 5.2  cm2/lseh2

(B)  6.4 cm2/lseh2

(C) 4.8 cm2/lseh2

(D) 3. 6 cm2/lseh2

 72. Goldi sold 10 sarees for a total profit of

` 460 and 8 sarees for a total profit of

` 144. At what profit per saree should he

sell the remaining 24 sarees, so that he

gets an average profit of ` 18 per saree?

xksYM+h 10 lkfM+;ksa dks ` 460 ds dqy ykHk ij rFkk 8

lkfM+;ksa dks ̀  144 ds dqy ykHk ij cspkA 'ks"k 24 lkfM+;ksa

dks izfr lkM+h fdrus ykHk ij cspuk pkfg,] rkfd mls izfr

lkM+h ` 18 dk vkSlr ykHk izkIr gS\
(A) ` 5. 48

(B) ` 8.33

(C) ` 6.33

(D) ` 7.48

Directions (73-75): Study the following table and

answer the questions.

funsZ'k (73-75): fuEu rkfydk dk vè;;u djsa rFkk iz'uksa ds
mÙkj nsaA

Classification of 100 Students Based on the Marks

Obtained by them in Physics and Chemistry in an

Examination

,d ijh{kk esa HkkSfrdh rFkk jlk;u esa 100 Nk=kksa
}kjk izkIr vadksa dk fooj.k

Marks out of 50/50 esa ls vad

40 and
above/

40 rFkk mlls

 vf/d

30 and
above/

30 rFkk mlls

 vf/d

20 and
above/

20 rFkk mlls

 vf/d

10 and
above/

10 rFkk mlls

 vf/d

0 and
above/

0 rFkk mlls

 vf/d

Subject/fo"k;

History/

bfrgkl

Geography/

Hkwxksy
Average

(Aggregate)/

vkSlr (dqy)

9

4

7

32

21

27

80

66

63

92

81

87

100

100

100

 73. The percentage of number of students

getting atleast 80% in marks History is-----

% more than student getting atleast 80%

marks in Geography.

bfrgkl esa de ls de 80% vad izkIr djus okys Nk=k]
Hkwxksy esa de ls de 80% vad izkIr djus okys Nk=kksa

ls&&&&&% vf/d gSaA
(A) 125%

         (B) 175%

(C) 100%

         (D) 120%

  74. The percentage of number of students

getting at least 60% marks in Geography

over those getting at least 40% marks in

aggregate, is approximately?

Hkwxksy esa de ls de 60% vad izkIr djus okys Nk=kksa dk]
dqy esa de ls de 40% vkSlr vad izkIr djus okyksa ls
yxHkx fdruk izfr'kr gS\
(A) 31% (B)  33.33%

(C) 27% (D) 16.67%

 75. The percentage of number of students

getting atleast 40% in marks Geography is-

-----% less than student getting atleast 40%

marks in History.

Hkwxksy esa de ls de 40% vad izkIr djus okys Nk=k]

bfrgkl esa de ls de 40% vad izkIr djus okys Nk=kksa
ls&&&&&% de gSaA
(A) 12.5% (B) 17.5%

(C) 10% (D) 20%
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Part - IV (English Language)

Direction (Qs.76 – 79): In the following
questions, some part of the sentences have
errors and some are correct. Find out which part
of a sentence has an error and blacken the oval
[ ] corresponding to the appropriate letter (A),
(B), (C). If a sentence is free from error, blacken
the oval corresponding to (D) in the Answer
Sheet.

76. Excellence has not been luck; (A)/ it is the

result of a lot of (B)/hard work and practice.

(C)/ No error (D)
77. Having toiled for two (A)/hours, he sat down

(B)/to take some rest. (C)/ No error. (D)
78. Everyone admires Deepa because (A)/of her

ability to generate (B)/so good ideas. (C)/ No
error. (D)

79. Most of the funds we get (A)/ from America
is used to (B)/build road and bridges. (C)/
No error (D)

Directions : In Question nos. 80 to 82,
sentences given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative out of the four and indicate it by
blackening the appropriate oval [ ] in the
Answer Sheet.
80. The unemployment rate is rising and jobs

are becoming_____.
(A) scarce (B) scanty
(C) infrequent (D) negligible

81. Macbeth is a tragedy of a man who
was___with great qualities.
(A) possesed (B) empowered
(C) privileged (D) endowed

82. The union government had decided that
cinema halls in country will_____play the
national anthem at the begining of the
shows.
(A) essentially (B) bindingly
(C) obligatorily (D) mandatorily

Directions : In question no. 83, out of the four
alternatives, choose the word which best
expresses the meaning of the given word.
83. Deviate

(A) Sway (B) Circulate
(C) Pull (D) Divert

Directions : In question no. 84, choose the word
opposite in meaning to the given word.
84. Fluster

(A) Tranquility (B) Approval
(C) Turmoil (D) Drudgery

Directions : In question nos. 85, four words are
given in each question, out of which only one
word is spelt correctly/wrongly out of them.
Find the word spelt correctly/wrongly and mark
your answer in the Answer Sheet.
85. (A) Encompass (B) Encomium

(C) Enimical (D) Encumber

Direction : In Question nos. 86 to 88, four

alternatives are given for the Idiom/Phrase in

bold in below sentences. Choose the

alternative which best expresses the meaning

of the Idiom/Phrase and mark it in the Answer

Sheet.

86. Go all out

(A) Influence someone completely

(B) To criticise someone

(C) To try one's hardest

(D) To make Progress

87. To bite one's lips

(A) To feel sorry

(B) Laugh at others

(C) To have a doubt

(D) To repress one's anger or other emotions

88. Work like a trojan

(A) Face dificulties (B) Take trouble

(C) To imitate (D) Work very hard

Direction (Qs. 89 – 93): In the following

questions, a part of the sentence is underlined.

Below are given alternatives to the underlined

part at (A), (B), (C) which may improve the

sentence. Choose the correct alternative. In

case no improvement is needed your answer is

(D). Mark your answer in the Answer sheet

89. All the members of the club were assembled

to celebrate the 50th anniversary of the club.

(A) had assembled to celebrate

(B) had been assembled for celebration

(C) were assembling to celebrate

(D) No Improvement

90. Despite his old age, his movements were

as spirited as a young man.

(A) those of a young man

(B) of a young man

(C) of a young man's

(D) No Improvement

91. In our opinion Mr. Dayal's son has carry

forward the business well in his absence.

(A) been carrying away

(B) carried on

(C) been carried out

(D) No Improvement

92. The orphans have been clamouring for

nutritious food from the past two weeks.

(A) for past (B) from past

(C) for the past (D) No improvement
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 93. To succeed in a difficult task, persistent in
needed.

(A) persistence is needed

(B) persistence is what one need

(C) persistent should have needed

(D) No improvement
Direction (Qs.94 to 96): In the following
questions, out of the four alternatives, choose
the one which can be substituted for the given
sentence.

94. Excessive concern about one's health.
(A) Minstrel (B) Hypochondria
(C) Abalone (D) Hypocaust

95. Abnormally thin or feeble.

(A) Emeritus (B) Eminent

(C) Emaciated (D) Emergent
96. The action of bringing into completion.

(A) Consummation (B) Chivalrous
(C) Effectuation (D) Assimilation

Direction (Q. No- 96 - 100) : In these questions,
A passage is given with 4 question following
it. Read the passage carefully and choose the
best answer to each question out of the four
alternatives.

A sanctuary may be defined as a place where Man
is passive and the rest of Nature active. Till quite
recently Nature had her own sanctuaries, where
man either did not go at all or only as a tool-using
animal in comparatively small numbers. But now,
in this machinery age, there is no place left
where man cannot go with overwhelming forces
at his command. He can strangle to death all the
nobler wild life in the world to-day. To-morrow he
certainly will have done so, unless he exercises
due foresight and self-control in the mean time.
There is not the slightest doubt that birds and
mammals are now being killed off much faster
than they can breed. And it is always the largest
and noblest forms of life that suffer most. The
whales and elephants, lions and eagles, go. The
rats and flies, and all mean parasites, remain.
This is inevitable in certain cases. But it is
wanton killing off that I am speaking of to-night.
Civilized man begins by destroying the very forms
of wild life he learns to appreciate most when he
becomes still more civilized. The obvious remedy
is to begin conservation at an earlier stage, when
it is easier and better in every way, by enforcing
laws for close seasons, game preserves, the
selective protection of certain species, and
sanctuaries.

I have just defined a sanctuary as a place
where man is passive and the rest of Nature
active. But this general definition is too absolute
for any special case. The mere fact that man has
to protect a sanctuary does away with his purely
passive attitude. Then, he can be beneficially
active by destroying pests and parasites, like bot-
flies or mosquitoes, and by finding antidotes for
diseases like the epidemic which periodically
kills off the rabbits and thus starves many of the
carnivora to death. But, except in cases where
experiment has proved his intervention to be
beneficial, the less he upsets the balance of
Nature the better, even when he tries to be an
earthly Providence.
 97.  The author implies that his first definition

of a sanctuary is

(A) totally wrong 

(B) somewhat idealistic 

(C) unhelpful 

(D) indefensible 

 98.  The authors argument that destroying bot-

flies and mosquitoes would be a beneficial

action is most weakened by all of

the following except

(A) parasites have an important role to

play in the regulation of populations 

(B) the elimination of any species can have

unpredictable effects on the balance of

nature 

(C) the pests themselves are part of the

food chain 

(D) these insects have been introduced to

the area by human activities 

 99.  It can be inferred that the passage is

(A) part of an article in a scientific journal 

(B) extracted from the minutes of a nature

club 

(C) part of a speech delivered to an

educated audience 

(D) a speech delivered in a court of law 

100.  The purpose of the final paragraph is

(A) to sum up the main points of the

authors argument 

(B) to urge a solution to an increasingly

pressing problem 

(C) to qualify the authors definition of an

important term 

(D) to propose a program 
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